| Efficiency vs Dxy |

0.2
<

yo : : :
.18 it
Z ool
B.16]
k= S
K e A
© o : :
0,12 irreriveie
.
.08
0064
0.08f b
0,024

..................................................

..................................................

Rati

0.95

OJ--\-Q_IIIIiIIllillllillllill*i*l*illllillllillllillll

| Efficiency vs Dz |

B T20-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_XiMinusNOPU_base
—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch2

N 0.2
o

0.02f |-

T: | SRR
o F : :
Paefi
O B . .
.14 poeenenes :
o 5 5
0.2
O S
0.0 ifo |-

...............................................

0.06f it f
0.04fi1 +

o+

Rati

0.95

EEERRERREEEE B TV A A TR T AN R T R R T R

° .
* ||

HER 2
*

0.9

230 20 -10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


